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Grade Rainfall amount of 24 h (mm)  Number of event

Small rainfall <10 39
Moderate rainfall 10-25 21
Heavy rainfall 25-50 6
Storm 50-100 3
Large storm 100-250 1
Extreme large storm =250 0
Total 70
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“Forty-eight plus nineteen equals sixty-seven”

S : Forty-eight plus nineteen equals sixty-seven.
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T : Bingo! It's 6 centimeters and 7 millimeters.
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T:3 plus 4 equals T.
T:6 plus 3 equals 9.
T:seig- 247 B0 8T Hm?
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T : Yes! Repeat after me, 6 centimeters and 3

millimeters plus 3 centimeter and 4 centimeters
equals 9 centimeters and 7 millimeters.

S:6 centimeters and 3 millimeters plus 3
centimeter and 4 centimeters equals 9 centimeters
and 7 millimeters.
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T :5 centimeters and ?2millimeters plus 3centimeter

9
;

and bmillimeters equals?
T:
question.
Si&S: -
T: Good! "kE'FF"Jrf‘—%F”*E
T:Reid} E‘Fpﬁ:?fmﬁ 7
#29#f+0W5’m13
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Cm
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8 centimeters 7 millimeters.
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: 2 plus 5 equals T.

-5 plus 3 equals 8.
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T : Turn to page forty-five.
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St 7 centimeters 1 millimeter.

T ALl right > 7R3 F 57 6 S = 3L -
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Ss 16 centimeters 4 millimeters.
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